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Question Numbers : (1 to 5)
Question Label : Comprehension



She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour. and dug an overflow gutter to save the dam across the creck. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
tor she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumoma - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Again. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
The children cry "Crows. mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning, but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villaimnous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam. or over at the yard. for he always cunningly mquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |She saves the dam [. By aiming a broomstick
B. |She fought a mad bullock II. |The skin of the bullock
C. |5he fought the crows and eagles| II1. [By firing bullets
D. |She =old IV. By digging an overflow gutter

Choose the correct answer from the options given below:

1. A-TII. B-1. C-IV, D-I1

| )

CA-IL B-IV. C-1, D-III
3. A-IV. B-1. C-TII. D-II
4. A-IV, B-111, C-I. D-II

Options :

68634041201. 1
68634041202. 2
68634041203. 3
68634041204. 4

Question Number : 2 Question Id : 68634010438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How did 'she’ kill the mad bullock?

1. She hit him with a broomstick

2

. She skinned him and he died
3. She fired bullets with an old shot gun
4, She fought with it and hit him hard
Options :
68634041205. 1
68634041206. 2

68634041207. 3
68634041208. 4

Question Number : 3 Question Id : 68634010439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She fought with the crows and eagles because

1. They were making a lot of noise

[

. They wanted to tease her cattles
3. They were a nuisance

4. They wanted to eat her chickens

Options :

68634041209. 1
68634041210. 2
68634041211. 3
68634041212. 4

Question Number : 4 Question Id : 68634010440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

b2

. Cruel
3. Brave
4. Sensitive

Options :
68634041213. 1



68634041214. 2
68634041215.3
68634041216. 4

Question Number : 5 Question Id : 68634010441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning. but a woman's cunning 1s greater 'THEY" refers to

1. Cattles

[ )

. Chickens
3. Cows
4, Crows

Options :

68634041217. 1
68634041218. 2
68634041219. 3
68634041220. 4

Question Id : 68634010436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour, and dug an overflow gutter to save the dam across the creek. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
for she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumonia - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Agam. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
She also fights th d eagles that have desig her chickens. Her plan of g ginal
The children cry "Crows, mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning. but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villainous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam, or over at the yard. for he always cunningly inquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |She saves the dam I. |By aiming a broomstick
B. [She fought a mad bullock I1. [The skin of the bullock
C. |She fought the crows and eagles| II1. [By firing bullets
D |She sold IV By digging an overflow gutter|

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-IV, D-I1

|

CA-IL B-IV. C-1, D-ITT
3. ATV, B-1. C-II1L, D-I1
4. A-IV. B-111. C-1. D-I1

Options :

68634041201. 1

68634041202. 2

68634041203. 3
68634041204. 4

Question Number : 2 Question Id : 68634010438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How did 'she’ kill the mad bullock?

. She hit him with a broomstick

—

b2

. 5he skinned him and he died

LFS]

. She fired bullets with an old shot gun
4. She fought with it and hit him hard

Options :

68634041205. 1
68634041206. 2
68634041207. 3
68634041208. 4

Question Number : 3 Question Id : 68634010439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



She fought with the crows and cagles because

1. They were making a lot of noise

| B

. They wanted to tease her cattles
3. They were a nuisance
4. They wanted to eat her chickens
Options :
686340412009. 1
68634041210. 2

68634041211. 3
68634041212. 4

Question Number : 4 Question Id : 68634010440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

| )

. Cruel
3. Brave
4, Sensitive

Options :

68634041213. 1
68634041214. 2
68634041215. 3
68634041216. 4

Question Number : 5 Question Id : 68634010441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning, but a woman's cunning is greater "THEY" refers to

1. Cattles

| B

. Chickens
3. Cows
4, Crows

Options :
68634041217. 1



68634041218. 2
68634041219. 3
68634041220. 4

Sub-Section Number : 2
Sub-Section Id : 686340349
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ )

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634041221. 1
68634041222. 2
68634041223.3
68634041224. 4

Question Number : 6 Question Id : 68634010442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ ]

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634041221. 1
68634041222. 2
68634041223.3
68634041224. 4

Question Number : 7 Question Id : 68634010443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the following options is

1. AGOLOMARATE

| B

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634041225. 1
68634041226. 2
68634041227. 3
68634041228. 4

Question Number : 7 Question Id : 68634010443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correctly spelt word from the following options is

1. AGOLOMARATE
2. AGGLOMERATE
3. AGLOMARATE
4. AGGLOMARETA

Options :

68634041225. 1

68634041226. 2

68634041227. 3
68634041228. 4

Question Number : 8 Question Id : 68634010444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ )

. Detailed

Lad

. Capable

4. Tolerant

Options :
68634041229. 1
68634041230. 2



68634041231.3
68634041232, 4

Question Number : 8 Question Id : 68634010444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ B

. Detailed

LIPS ]

. Capable
4. Tolerant

Options :

68634041229. 1
68634041230. 2
68634041231. 3
68634041232. 4

Question Number : 9 Question Id : 68634010445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor
3. Alive and Kicking
4. Above board

Options :

68634041233. 1
68634041234. 2
68634041235. 3
68634041236. 4

Question Number : 9 Question Id : 68634010445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor

LIF¥]

. Alive and Kicking
4. Above board

Options :

68634041233. 1
68634041234. 2
68634041235. 3
68634041236. 4

Question Number : 10 Question Id : 68634010446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

b2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634041237. 1
68634041238. 2
68634041239. 3
68634041240. 4

Question Number : 10 Question Id : 68634010446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me. but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634041237. 1
68634041238.2
68634041239. 3
68634041240. 4

Question Number : 11 Question Id : 68634010447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi invested certain sum on simple iterest, He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned ¥1320 as interest. Find the sum invested by him (in 2).

1. 4000
2. 5000
3. 6000
4, 6400
Options :
68634041241. 1
68634041242. 2

68634041243.3
68634041244. 4

Question Number : 11 Question Id : 68634010447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi mvested certain sum on simple mterest. He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned 1320 as interest. Find the sum invested by him (i ).

1. 4000
2. 5000
3. 6000

4. 6400



Options :

68634041241. 1
68634041242.2
68634041243.3
68634041244. 4

Question Number : 12 Question Id : 68634010448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg, he gams 10%?

1.3:2

[ ]
Lad
aha

4. 4:

LA

Options :

68634041245. 1
68634041246. 2
68634041247.3
68634041248. 4

Question Number : 12 Question Id : 68634010448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/'kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1.3:2

L]
L]
L

4. 4:

L

Options :

68634041245. 1
68634041246. 2
68634041247. 3
68634041248. 4

Question Number : 13 Question Id : 68634010449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
L

=]

4.45°

Options :

68634041249,
68634041250.
68634041251.
68634041252.

AW N =

Question Number : 13 Question Id : 68634010449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
A

a

4.45°

Options :

68634041249.
68634041250.
68634041251.
68634041252.

AW N =

Question Number : 14 Question Id : 68634010450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64, then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

]

=,
g

tad| b2

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 18 correct but (R) 13 not correct
4. (A) 1s not correct but (R) 1s correct

Options :

68634041253. 1

68634041254. 2

68634041255.3
68634041256. 4

Question Number : 14 Question Id : 68634010450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64. then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

S (v P
$; (V2

In the light of the above statements. choose the most appropriate answer from the options given below:

[y

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

-2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

L]

. (A) 15 correct but (R) is not correct
4. (A) is not correct but (R) is correct
Options :

68634041253. 1
68634041254. 2



68634041255.3
68634041256. 4

Question Number : 15 Question Id : 68634010451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaining work
in one day?

1.8

| )
pL]

4.15

Options :

68634041257. 1
68634041258. 2
68634041259. 3
68634041260. 4

Question Number : 15 Question Id : 68634010451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaming work
i one day?

1.8

[ B]
Rl

[F5]

8 i
4.15

Options :

68634041257. 1
68634041258.2
68634041259. 3
68634041260. 4

Question Number : 16 Question Id : 68634010452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many such pairs of letters are there in the word "YOUTUBE". which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Twao
3. Three

4, None

Options :

68634041261. 1
68634041262. 2
68634041263. 3
68634041264. 4

Question Number : 16 Question Id : 68634010452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many such pairs of letters are there in the word "YOUTUBE", which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Two
3. Three

4. None

Options :

68634041261. 1
68634041262.2
68634041263. 3
68634041264. 4

Question Number : 17 Question Id : 68634010453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

L]

. RTOMODDI

4. RTOMOBDI

Options :



68634041265. 1
68634041266. 2
68634041267. 3
68634041268. 4

Question Number : 17 Question Id : 68634010453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

Lad

. RTOMODDI

4. RTOMOBDI

Options :

68634041265. 1
68634041266. 2
68634041267. 3
68634041268. 4

Question Number : 18 Question Id : 68634010454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A's father 1s 'B's son. C 1s the paternal Uncle of A and D 1s the brother of B. How 1s D related to C?
1. Son
2. Nephew
3. Brother

4. Uncle

Options :

68634041269. 1
68634041270. 2
68634041271. 3
68634041272. 4

Question Number : 18 Question Id : 68634010454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'A's father 1s 'B's son. C 1s the paternal Uncle of A and D is the brother of B. How is D related to C?

1. Son

| B

. Nephew
3. Brother

4. Uncle

Options :

68634041269. 1
68634041270. 2
68634041271. 3
68634041272. 4

Question Number : 19 Question Id : 68634010455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

2o 5 ¥ 23,312

1. 37

| )

.41
3.43
4. 33

Options :

68634041273. 1
68634041274. 2
68634041275. 3
68634041276. 4

Question Number : 19 Question Id : 68634010455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

pl o B 1508 0 2t e [

1.37

[ ]

.41



Options :

68634041273. 1
68634041274. 2
68634041275.3
68634041276. 4

Question Number : 20 Question Id : 68634010456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physics written by her.
Agsumptions:
I. The book is well-written

II. Every student can afford to buy the book

1. If only I 1s implictt

]

2. If only IT 1s implieit
3. If neither I nor IT 1s implicit

4. If both I and IT are implicit

Options :

68634041277. 1
68634041278. 2
68634041279. 3
68634041280. 4

Question Number : 20 Question Id : 68634010456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physies written by her.
Assumptions:
I. The book is well-written

II. Every student can afford to buy the book

L. If only I is implicit

| ]

 If only 11 15 implicit
3. If neither I nor II 1s implicit
4. If both I and II are implicit

Options :
68634041277. 1



68634041278. 2
68634041279. 3
68634041280. 4

Question Number : 21 Question Id : 68634010457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar 11T |JAmjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II, D-ITI

| )

AL B-1L C-IV. D-II
3. A-IIL, B-1. C-I1, DIV
4. A-L. B-III. C-II, D-IV

Options :

68634041281. 1
68634041282.2
68634041283. 3
68634041284. 4

Question Number : 21 Question Id : 68634010457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismaillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar IIT. |Amjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-II1

[ ]

CACLL B-LL C-IV. D-TT
3. A-IIL B-1. C-I1. DIV
4. A-L. B-III, C-1I, D-IV

Options :

68634041281. 1

68634041282. 2

68634041283. 3
68634041284. 4

Question Number : 22 Question Id : 68634010458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif' crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is imncorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634041285. 1
68634041286. 2

68634041287. 3
68634041288. 4



Question Number : 22 Question Id : 68634010458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :
68634041285. 1
68634041286. 2

68634041287. 3
68634041288. 4

Question Number : 23 Question Id : 68634010459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement IT is mecorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634041289. 1
68634041290. 2
68634041291. 3
68634041292. 4

Question Number : 23 Question Id : 68634010459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is mcorrect
4. Statement I 1s incorrect but Statement IT 1s correct
Options :
68634041289. 1
68634041290. 2

68634041291. 3
68634041292. 4

Question Number : 24 Question Id : 68634010460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Article of the Indian Constitution provides for equal opportunities for all citizen in public employment?
1. Article 22
2. Article 16
3. Article 20
4. Article 25

Options :

68634041293. 1
68634041294. 2
68634041295. 3
68634041296. 4

Question Number : 24 Question Id : 68634010460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article of the Indian Constitution provides for equal opportunities for all eitizen in public employment?

1. Article 22

| B

. Article 16
3. Article 20
4, Article 25

Options :

68634041293. 1
68634041294. 2
68634041295. 3
68634041296. 4

Question Number : 25 Question Id : 68634010461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
Myopia I. |Convex lens

Hypermetropia| II. [Bi-focal lens

Preshyopia ITT. |Cylindrical lenses

Astigmatism | IV, [Concave lens

ol ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-I. C-II. D-IV

| )

. A-1. B-IV. C-II, D-III
3. A-IV. B-1, C-I1I. D-II
4. A-IV. B-1, C-1I, D-III

Options :

68634041297. 1
68634041298. 2
68634041299. 3
68634041300. 4

Question Number : 25 Question Id : 68634010461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
MMyopia I. |Convex lens

Hvpermetropia| I [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV. [Concave lens

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-II. D-IV

[ ]

CA-L B-IV, C-I1, D-ITI
3. A-IV. B-1. C-1II. D-I1
4. A-IV. B-1, C-I1, D-ITI

Options :

68634041297. 1

68634041298. 2

68634041299. 3
68634041300. 4

Part B: LLM

Section Id : 686340208
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340350
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Partnership Act. 1932 does not work under which of the following principle

1. Limited lLiablity

| B

. Greatest common advantage
3. Good faith
4. Due diligence

Options :

68634041301. 1
68634041302. 2
68634041303. 3
68634041304. 4

Question Number : 26 Question Id : 68634010462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TreIeRT afefae 1032 Fafafaa 7 9 fa Rigia & sicfa srd i sxar 22
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Options :

68634041301. 1
68634041302. 2
68634041303. 3
68634041304. 4

Question Number : 27 Question Id : 68634010463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The famous (case) of Hadley v. Baxendall (1854) is related to :

1. Damages for breach of contract

[ )

. Doctrine of quantum merit
3. Commercial Hardship

4. Doctrine of Frustration

Options :
68634041305. 1



68634041306. 2
68634041307. 3
68634041308. 4

Question Number : 27 Question Id : 68634010463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URIG d1E (case) B80T &0 SRS (1854) TalUd © -
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Options :

68634041305. 1
68634041306. 2
68634041307. 3
68634041308. 4

Question Number : 28 Question Id : 68634010464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following maxim does not belong to Law of Torts

1. mjuria sine damno

[ B

. Volenti non fit injuria

LF%]

. Ut lite pendent ninil innoveteur
4. Quui feit per alium facit per se

Options :

68634041309. 1
68634041310. 2
68634041311. 3
68634041312. 4

Question Number : 28 Question Id : 68634010464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041309. 1
68634041310. 2
68634041311. 3
68634041312. 4

Question Number : 29 Question Id : 68634010465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following does not come within Law of Tort

1. Negligence

[ B

. Vicarious liability

L]

. Culpable Homicide
4. Nuisance

Options :

68634041313. 1

68634041314. 2

68634041315.3
68634041316. 4

Question Number : 29 Question Id : 68634010465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafeiEad ¥ U o= 91 /b fafd & 3icrid el Sirdr g?
1. TT9RdTe!
e o
Y AHE gl

[ ]

L
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Options :



68634041313. 1
68634041314. 2
68634041315.3
68634041316. 4

Question Number : 30 Question Id : 68634010466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

President rule under Article 356 can be imposed, in a state for maximum period of :

1. 2 Years

(B

. 3 Years
3. 12 Months
4. One Year
Options :
68634041317. 1
68634041318. 2

68634041319. 3
68634041320. 4

Question Number : 30 Question Id : 68634010466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
354 356 & SAcia o H APl A ¥ ad fabd1T 2afd & fou aeman o el 82
1.2a4
3oy
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Options :

68634041317. 1
68634041318. 2
68634041319. 3
68634041320. 4

Question Number : 31 Question Id : 68634010467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which case. it was observed for the first time by the Supreme Court that equality is antithetic to
arbitrariness.

1. Air India v. Nargesh Meerza & Others

2. A. D. M. Jabalpur v. Shivakant Shukla.

3. Navtej Singh Johar v. Union of India.

4. E. P. Royappa v. State of Tamil Nadu and others
Options :
68634041321. 1
68634041322. 2

68634041323.3
68634041324. 4

Question Number : 31 Question Id : 68634010467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferg arg o Ul aR I=ad e A fewult € o s FRewar & fTwia g -
1. UOR &g & Antw el 3R 3

2. TSI, U, SiEaqy &4 fRraer- e

3. Agdd (48 SigY §19 YRd 99

4. 3 Y1, g §H AeArs Id 3R 3

Options :

68634041321. 1
68634041322. 2
68634041323. 3
68634041324. 4

Question Number : 32 Question Id : 68634010468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which condition is need not to satisty for religious denominations :

1. It must have a common organisation.

[ )

. It must be designated by a distinctive name
3. It must be recognized by state

4. It must be collection of individuals who have a system of belief which they regard as conducive to their
spiritual well being.



Options :

68634041325. 1
68634041326. 2
68634041327. 3
68634041328. 4

Question Number : 32 Question Id : 68634010468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e i & fore o5 21 1 OR1 S 1911 a0 ol o7
1. BT T YT1é4 51 91feU
2. g4 ot fafRy 5 gr1 sififed far S =g
3. S T GRT AT fHeHT =gy

4. U5 fFal &1 90E o, e et syt voed! § for 3 oraeht snenfdre 3afd 3 fo werae
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Options :

68634041325. 1
68634041326. 2
68634041327. 3
68634041328. 4

Question Number : 33 Question Id : 68634010469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following case is not related with the Tribunals in India.
1. Sampat Kumar v. Union of India
2. L. Chandra Kumar v. Union of India
3. Om Kumar v. Union of India

4. Roser Mathew v. South Indian Bank

Options :

68634041329. 1
68634041330. 2
68634041331.3
68634041332. 4

Question Number : 33 Question Id : 68634010469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041329. 1
68634041330. 2
68634041331. 3
68634041332. 4

Question Number : 34 Question Id : 68634010470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following Constitutional Amendment was not challenged in M. Nagraj v. Union of India

1. 77™ Constitutional Amendment

| B

. 815 Constitutional Amendment
3. 85™ Constitutional Amendment

4. 86™ Constitutional Amendment

Options :

68634041333. 1
68634041334.2
68634041335. 3
68634041336. 4

Question Number : 34 Question Id : 68634010470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UH TR g9 YRd ¥ a1g & Fofafga 3 9 fou dfaum dxitem &1 g 761 < s db
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68634041333. 1
68634041334. 2
68634041335.3
68634041336. 4

Question Number : 35 Question Id : 68634010471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anrticle 33 of the Constitution of India empowers parliament to -

1. Enforce Fundamental Rights under Part ITI of the constitution.

(B

. Impose Martial Law

3. Declare National Emergency

e

. Modify Fundamental Rights in relation to Armed Forces

Options :

68634041337. 1
68634041338. 2
68634041339. 3
68634041340. 4

Question Number : 35 Question Id : 68634010471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & WY BT ST=5e 33 THS B T Bl 6
1. HGET & URT I & 3icid ga U6 RI Bl udldd B & g
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Options :

68634041337. 1
68634041338. 2
68634041339.3
68634041340. 4

Question Number : 36 Question Id : 68634010472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following case is known as ot schedule case.

1. Minervas Mills v. Union of India

2. S. P. Gupta v. Union of India
3. Maneka Gandhi v. Union of India

4. 1. R. Coelho v. State of Tamil Nadu

Options :

68634041341. 1
68634041342.2
68634041343. 3
68634041344. 4

Question Number : 36 Question Id : 68634010472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafEd o 4 fog arg &1 o df 3y 918 & U § S ofldl 82
1. fiTal e &9 WRd 49

.Ul T 91 YR 99

[ ]

3. HE®1 T4 §910 YRd 99

Options :

68634041341. 1
68634041342. 2
68634041343. 3
68634041344. 4

e

Question Number : 37 Question Id : 68634010473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following decision of Supreme Court does not deal with Uniform Civil Code

1. Mohd. Ahmed Khan v. Shah Bano

| B

. Selviv. State of Karnataka
3. Sarla Mudgal v. Union of India

4. John Vallamattom v. Union of India

Options :
68634041345. 1



68634041346. 2
68634041347. 3
68634041348. 4

Question Number : 37 Question Id : 68634010473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. HIgHg 3feHg &4 978 &1
 Tdt 9910 HAICD T

IR Hedd d-TH HRd g

[

L]

=S

S deeHgH §9H YRd 99

Options :

68634041345. 1
68634041346. 2
68634041347. 3
68634041348. 4

Question Number : 38 Question Id : 68634010474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Lokpal and Lokayukta Act. 2013 came into force in :

1. 12 December 2013

| B

. 26 December 2013
3. 15 January 2014
4. 16 January 2014

Options :

68634041349. 1
68634041350. 2
68634041351. 3
68634041352. 4

Question Number : 38 Question Id : 68634010474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT SR diergaad SafFad, 2013 TF FHERT 51T -
1. 12 fegmaR 2013

.26 T&ETaR 2013

3. 15 OFTGRI 2014

4. 16 SFGR] 2014

Options :

68634041349. 1
68634041350. 2
68634041351. 3
68634041352. 4

| )

Question Number : 39 Question Id : 68634010475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following case 1s bible on the delegated legislation.

1. R. v. Burah

| )

. Mohini Jain v. State of Karnataka.
3. 8. P. Mittal v. Union of India
4. In re Delhi Laws Act.

Options :

68634041353. 1

68634041354. 2

68634041355.3
68634041356. 4

Question Number : 39 Question Id : 68634010475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634041353. 1
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68634041354. 2
68634041355.3
68634041356. 4

Question Number : 40 Question Id : 68634010476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the form of divorce which has been struck down by the Supreme Court in Shayara Bano v. Union of
India.

1. Talaq -e-hasan

. Talaq - e- sunna

[ ]

L¥%]

. Talaq - e- biddat
4. Talaq - e- tafweez

Options :

68634041357. 1
68634041358.2
68634041359. 3
68634041360. 4

Question Number : 40 Question Id : 68634010476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JdH Ty gRI Aol & by &4 &l YRl §F] 691 YRd 9 918 § a1 6 &g 19
1. defTp-T-g 3
2. AUl
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Options :

68634041357. 1
68634041358. 2
68634041359. 3
68634041360. 4

Question Number : 41 Question Id : 68634010477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The provision related to Plea Bargaining added to Cr. P. C, 1973 by Criminal Law (Amendment) Act 2006 are.

1. Section 265A to M.

| B

. Section 265A to L
3. Section 265A to J

4. Section 265At0 K

Options :

68634041361. 1
68634041362. 2
68634041363. 3
68634041364. 4

Question Number : 41 Question Id : 68634010477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CURT265AT L

| )

3. URT265A 9 T
4. YRT265A9 K

Options :

68634041361. 1
68634041362.2
68634041363. 3
68634041364. 4

Question Number : 42 Question Id : 68634010478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of following. which case 1s not related to rights of arrested person.

1. Jogendra Kumar v. State of Uttar Pradesh.

[ )

. D. K. Basu v. State of West Bengal

L]

. Arnesh Kumar v. State of Bihar
4. Bachhan Singh v. State of Punjab

Options :



68634041365. 1
68634041366. 2
68634041367. 3
68634041368. 4

Question Number : 42 Question Id : 68634010478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafaied ¥ 3 o 91 ag FRER 3 710 oofdd & iRl € Haftd 781 82

1. S HHR §-H FTR U= oY

| )

S . §Y §T1H UigH §7e ey

[#%]

| 3R HHR G4 T

4. =9 g 9919 Uod I

Options :

68634041365. 1
68634041366. 2
68634041367. 3
68634041368. 4

Question Number : 43 Question Id : 68634010479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following jurists has divided the formal sources and material sources ?

1. Allen

| )

. Keeton
3. Salmond
4. Savigny

Options :

68634041369. 1
68634041370. 2
68634041371. 3
68634041372. 4

Question Number : 43 Question Id : 68634010479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafaa & 9 g Tmfae 3 sigeie gial sk Yifde St @1 favrs fear .

_Preg

AR INESESE

4. gfawlt

Options :

68634041369. 1
68634041370. 2
68634041371. 3
68634041372. 4

| )

Question Number : 44 Question Id : 68634010480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 15 called as 'Darwinian before Darwin'.

1. Austin

| )

. Maine
3. Pucta
4. Savigny
Options :
68634041373. 1
68634041374. 2

68634041375.3
68634041376. 4

Question Number : 44 Question Id : 68634010480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ford STfd 9 Ugd SIfd-gw &gl 9l 87
1. 3R
Ric
il
4. Qfadt

Options :
68634041373. 1

| )

[#5]



68634041374. 2
68634041375.3
68634041376. 4

Question Number : 45 Question Id : 68634010481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following, which 1s not a duty of an advocate :

1. To respect the Court

| )

. To refuse to represent clients who ingist on adopting unfair means
3. To communicate with a Tudge in private
4. Not to instigate litigation,

Options :

68634041377. 1
68634041378. 2
68634041379. 3
68634041380. 4

Question Number : 45 Question Id : 68634010481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafetad 5 9 o 1 sifiaed &1 $dod el 82

1. <ATaTeTd BT T ST
. 3 Il D1 3T UR SR <7 9T gafghal &l Ui S d 7 Sl
gt 9 Felt =9 O 9uigo @A)

4, a1g (fafeTrer ) ot ufvd e &ear

Options :
68634041377. 1
68634041378 2

68634041379. 3
68634041380. 4

| )

(5]

Question Number : 46 Question Id : 68634010482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The theory "Only individuals are the subjects of international law” 1s propounded by :

1. Starke

| )

. Oppenhicum
3. Kelsen
4. Fenwic

Options :

68634041381. 1
68634041382. 2
68634041383. 3
68634041384. 4

Question Number : 46 Question Id : 68634010482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"ad ofad ol SiaRIpIafaly & fava g Rugia ferges g foam .

1. Wl
3. had
4. Bfa®

Options :

68634041381. 1

68634041382.2

68634041383. 3
68634041384. 4

| ]

Question Number : 47 Question Id : 68634010483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following year the U. N. General Assembly has created the position of U. N. High
Commissioner.

1. 1946

| )

. 1948
3. 1993
4. 2008

Options :
68634041385. 1



68634041386. 2
68634041387. 3
68634041388. 4

Question Number : 47 Question Id : 68634010483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiaa @ O fod au gua gemyn 3 guH S=red & Ug ol Haf fean

1. 1946

|

. 1948
3.1993
4. 2008

Options :

68634041385. 1
68634041386. 2
68634041387. 3
68634041388. 4

Question Number : 48 Question Id : 68634010484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The International Covenant on Economic. Social and Cultural Rights is consisted of Articles which
are divided in parts.

1. 21 Articles ; 5 parts

[ ]

.41 Articles ; 8 parts
3. 31 Articles ; 5 parts
4. 35 Articles : 8 parts

Options :

68634041389. 1
68634041390. 2
68634041391.3
68634041392. 4

Question Number : 48 Question Id : 68634010484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3nfife, Ao ok aiRgiaew sfteRi dad siaifh siftmm 3wsel 4 feaR a1 8. o1l
T # fqufora 21
1. 21 3w5e; 5 HIT

.41 354 8 HITT

3.31 3Jw54; 5 Y

4. 35 354 8 HIT
Options :
68634041389. 1
68634041390. 2

68634041391. 3
68634041392. 4

| )

Question Number : 49 Question Id : 68634010485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, the Supreme Court has held that the states cannot be directed to publish charge
sheet and final reports on state's websites for public access?

1. Anjali Bhardwaj and others v. Union of India (2019)

]

2. Central Public Information Officer, Supreme Court of India v. Subhash Chandra Agrawal (2020)
3. Saurva Das v. Union of India (2023)
4. Advocate Union for Democracy and Social Justice v. High Court of Madhya Pradesh (2023).

Options :

68634041393. 1
68634041394. 2
68634041395. 3
68634041396. 4

Question Number : 49 Question Id : 68634010485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafad ¥ O fog 91e § S=dd I 5 coawy1 2f {6 Ied) &1 39+ dedTge] UR oi-dl & forg
Treigiet 3R sifgw frdief & v & fau g 78 e s gears?

1. 3fTelt YRGS 3R 30 S99 YR 99 (2019)

2. D1y Wi YT HUPRT, HRd BT F=add g F-1H UV 95 HTaTd (2020)

3. ¥R &Y &1 YR 99 (2023)
4, QA 3R TS g & e Sifaedr T a0 980 Ue1 9= UEmed (2023).

Options :

68634041393. 1
68634041394. 2
68634041395. 3
68634041396. 4

Question Number : 50 Question Id : 68634010486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following provision of Right to Information Act. deals with the definition of term 'information' ?

1. 2(f)

[ )
d
~—
=]
L

3.2(h)
4. 2()

Options :

68634041397. 1
68634041398. 2
68634041399. 3
68634041400. 4

Question Number : 50 Question Id : 68634010486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 iR ififan o1 Fafifea 3§ 3 $F 91 Suasl g1 Uss ot oiku § Jafa g
1. 2(1)

b2

. 2(g)
3. 2(h)
4.2(3)

Options :



68634041397. 1
68634041398. 2
68634041399. 3
68634041400. 4

Question Number : 51 Question Id : 68634010487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Application for setting aside arbitral award i1s made under section of the Arbitration and
Conciliation Act, 1996 ?

1. Section - 30

el

2. Section - 34
3. Section - 33

4. Section - 24

Options :

68634041401. 1
68634041402. 2
68634041403. 3
68634041404. 4

Question Number : 51 Question Id : 68634010487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIewyy 3R gae S, 1006 S YIRT & SiTTd BTy Y (a0 &1 U a- &1
3H1de- foar Srar g |

1. Y¥{I- 30
2. 8RT- 34
3. YT -33
4, YRT- 24
Options :
68634041401. 1
68634041402. 2

68634041403. 3
68634041404. 4

Question Number : 52 Question Id : 68634010488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s the most appropriate mode of Alternative Dispute Resolution (ADR) to resolve matrimonial disputes

1. Arbitration

| B

. Negotiation

LF¥]

. Mediation

4, Conciliation

Options :

68634041405. 1
68634041406. 2
68634041407. 3
68634041408. 4

Question Number : 52 Question Id : 68634010488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dalfe® faarel & FH1UH & iU doicud faaTg SuTeT (TSI3R) B 9ad 3fud fafd S g
. TR
GIGEIG]

CHERT

| )

[#%]

4. Jde
Options :
68634041405. 1
68634041406. 2

68634041407. 3
68634041408. 4

Question Number : 53 Question Id : 68634010489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is correct about the law of limitation.
1. It bars the extra judicial remedy
2. It 15 a substantive law
3. It extinguishes the right

4. It bars the remedy

Options :
68634041409. 1



68634041410. 2
68634041411. 3
68634041412. 4

Question Number : 53 Question Id : 68634010489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad @ 3§ oF w1 iRl &t ol & aR § 981 5
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e

Options :

68634041409. 1
68634041410. 2
68634041411. 3
68634041412. 4

Question Number : 54 Question Id : 68634010490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Term of Patent is defined in :

1. Section 53 of the Patent Act. 1970

| B

. Section 54 of the Patent Act, 1970
3. Section 55 of the Patent Act, 1970

4. Section 56 of the Patent Act, 1970

Options :

68634041413. 1
68634041414. 2
68634041415. 3
68634041416. 4

Question Number : 54 Question Id : 68634010490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U¢e Teq 1 ARMTI B :

1. 9 fffad. 1970 &t URT 53
. gée ffam. 1970 B 4R 54
. gde HfUfd. 1970 Bt URT 55
4, Uce fEHTH, 1970 DT YRT 56

| )

L

Options :

68634041413. 1
68634041414. 2
68634041415. 3
68634041416. 4

Question Number : 55 Question Id : 68634010491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The term Criminology was coined by

1. Lambroso

| )

. Beeler
3. Raffaele Garafalo

4, Beccaria

Options :

68634041417. 1
68634041418. 2
68634041419. 3
68634041420. 4

Question Number : 55 Question Id : 68634010491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HURTYRITE g fb faar -
1. TR
2. g%
3. el RISl
4. dap1RA

Options :
68634041417. 1



68634041418. 2
68634041419. 3
68634041420. 4

Question Number : 56 Question Id : 68634010492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is said to be the father of Parole
1. Beccaria
2. Becker
3. Lambroso

4. Alexander Maconochies

Options :

68634041421. 1
68634041422. 2
68634041423.3
68634041424. 4

Question Number : 56 Question Id : 68634010492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WRid &1 fud fed de1 o @ -
1. STl
A Gy
TR

[

L

4, Toigai Y Haag

Options :

68634041421. 1
68634041422. 2
68634041423. 3
68634041424. 4

Question Number : 57 Question Id : 68634010493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Section of Juvenile Justice Act. 2015 provides that where an offence under the
Tuvenile Justice (Care and Protection of Children) Act, 2015 is punishable with imprisonment for a term more
than seven years. then such offence shall be cognizable and non bailable.

[y

. Section 2 (54)
2. Section 24
3. Section 76

4. Section 86

Options :

68634041425. 1
68634041426. 2
68634041427. 3
68634041428. 4

Question Number : 57 Question Id : 68634010493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PR = SHRIfaH Uae 2015 3 FEfRET § 9 59 yR1 & e § o ofel [k =g (@ee! &1
ST IR TREUN) AT 2015 & SATTd DIS URIY TS Fid T F A0S P HRIGE T GUS1 &L, ol
U7 3ORTe T3 3fR TR-GTHT 81

1. YRT 2 (54)

2. YRT 24

3.URI76

4. YT 86

Options :

68634041425. 1
68634041426. 2
68634041427. 3
68634041428. 4

Question Number : 58 Question Id : 68634010494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which law provides for the "victim compensation' in India.

1. Indian Penal Code. 1960

| B

. Code of Criminal Procedure, 1973
3. Indian Evidence Act. 1872
4. Information Technology Act. 2000
Options :
68634041429. 1
68634041430. 2

68634041431. 3
68634041432. 4

Question Number : 58 Question Id : 68634010494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S [afer YRa H Uifsd gaas &1 Suas Sl ol
1. YR 508 Higdl. 1960
. TORTfE Ufchar Hfgdl, 1973
3. HRAIg F1eg fafrm, 1872
YRR g1 W] g, 2000

| ]

S

Options :

68634041429. 1
68634041430.2
68634041431. 3
68634041432. 4

Question Number : 59 Question Id : 68634010495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a horizontal agreement in the Competition Act, 2002

1. Resale price maintenance

| )

. Tie in agreement
3. Cartel
4. Purchase price maintenance

Options :
68634041433. 1



68634041434. 2
68634041435.3
68634041436. 4

Question Number : 59 Question Id : 68634010495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad & 9 o= a i siffam, 2002 7 afos aosiar g2
AT T 3@
GO gay
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Options :

68634041433. 1
68634041434. 2
68634041435. 3
68634041436. 4

Question Number : 60 Question Id : 68634010496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rule of 'ejusdem generis' means.

1. The words of the statute should be understood in strict consonance with its objectives

2

. The words of the statute should be understood in logical manner.
3. The words of the statue should be interpreted in their context.
4, The principle of equity

Options :

68634041437. 1
68634041438. 2
68634041439. 3
68634041440. 4

Question Number : 60 Question Id : 68634010496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041437. 1

68634041438. 2

68634041439. 3
68634041440. 4

Question Number : 61 Question Id : 68634010497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following, which is not correct regarding secondary evidence.

1. Copies made from or compared with the original

| )

. Oral accounts of the contents of a document given by some person who has himself seen it.

LIPS ]

. Counterparts of documents as against the parties who did not execute them.
4. Oral accounts of the content of a document given by some person who has not himself seen it.
Options :
68634041441. 1
68634041442. 2

68634041443.3
68634041444. 4

Question Number : 61 Question Id : 68634010497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fecia® Hieg & aR J FafeRad § 3 o 98l 76l 6:
1. 09 9§15 715, Wil a1 S8 qa-id wio
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Options :



68634041441. 1
68634041442. 2
68634041443.3
68634041444. 4

Question Number : 62 Question Id : 68634010498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In which of the following section of Indian Evidence Act, 1872 the term 'conclusive proof is not used?
1. Section 112
2. Section 113

3. Section 41

4. Section 111

Options :

68634041445. 1
68634041446.2
68634041447. 3
68634041448. 4

Question Number : 62 Question Id : 68634010498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafaa 3 9 fag s § Frasfas e o1 3w & g gl

1. YT 112

| )

CURT113
3. URT 41

4 URT111

Options :

68634041445. 1
68634041446. 2
68634041447. 3
68634041448. 4

Question Number : 63 Question Id : 68634010499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Under which Article of Indian Constitution., Goods and Service Tax Council can be is constituted :-

1. Article 279
2. Article 279A
3. Article 280
4, Article 281

Options :

68634041449. 1

68634041450. 2

68634041451.3
68634041452. 4

Question Number : 63 Question Id : 68634010499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRGSy & 5 sree & sicria ara SR Ja1 o uRwg &1 76 fFarmar g

1. 3=5¢ 279

394 279A
3. 3J=54 280
4. 3T=94 281

Options :

68634041449, 1

68634041450, 2

68634041451.3
68634041452. 4

| )

Question Number : 64 Question Id : 68634010500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The term "White collar erime' was coined by :
1. Aristotle
2. Edwin Sutherland

3. Immanual Kant

4. Salmond

Options :
68634041453. 1



68634041454. 2
68634041455.3
68634041456. 4

Question Number : 64 Question Id : 68634010500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hh Ul R s fohg faam
1. I,
2. USIdH 9araivs
3. SHMTA B

" 2

Options :

68634041453. 1
68634041454. 2
68634041455. 3
68634041456. 4

Question Number : 65 Question Id : 68634010501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Offence of money laundering is

1. Traditional Crime

| )

. Moral Crime

Lad

. White Collar Crime
4. Social Crime

Options :

68634041457. 1
68634041458. 2
68634041459. 3
68634041460. 4

Question Number : 65 Question Id : 68634010501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 Se 1 F &
1. TR ORTY
2, A SURTY
3. YhaUIRT 3URTY
4. QST 3{URTY

Options :

68634041457. 1
68634041458. 2
68634041459. 3
68634041460. 4

Question Number : 66 Question Id : 68634010502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Duties may be classified mto primary and secondary duties.

Reason R : Duties are subject to classfication.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634041461. 1
68634041462. 2
68634041463. 3
68634041464. 4

Question Number : 66 Question Id : 68634010502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
.

HftpUT A: Teodl @ mufie iR fidtoe el & w9 § arifed foma o g@ar g

HRUTR: Hdad iRl & fauansfi= &
Sudad HYE & Tae 4, 19 AU T el & I 999 39gad IR 31 90 iy

1. A 3R REF 98 € AR R. A DI Tel IR §

2. A SRR G 6l 8 R R, A DI To! AR ol §
3. AT E AfGAR 3T B
4 ANTIEAFTIRTTE

Options :

68634041461. 1
68634041462. 2
68634041463. 3
68634041464. 4

Question Number : 67 Question Id : 68634010503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : A person in possession of a thing 1s deemed to be the owner of the thing.

Reason R : Possession 1s as good as ownership.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041465. 1
68634041466. 2
68634041467. 3
68634041468. 4

Question Number : 67 Question Id : 68634010503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
.

i@y A fordl! oofed & U9 ofs 5 a%q © df 94 3 a%g &1 WIH A 9 5

PR R: AIIL, Wi a9 el 2|
Sudad HYF & fae 4, 19 AU T faeedl & I 999 39gad IR 31 90 iy

1. AR REH GO T IR R AT TE TR &

2 AFRRITTAE ARR AT T A TS &
3. AT E AfGAR 3T B

4 ANTIEAPTIRITE

Options :

68634041465. 1
68634041466. 2
68634041467. 3
68634041468. 4

Question Number : 68 Question Id : 68634010504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Precedent is like a gold i1 a mine.
Reason R : It has to be searched in law reports.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041469. 1
68634041470. 2
68634041471. 3
68634041472. 4

Question Number : 68 Question Id : 68634010504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
T

Y= A: gafoig @F & w@of S g

HRUT R: 34 3t Rulel § @ie S =fgu |
SUdad HYF & faie 4, 19 AU T faeedl & I 98! 3R &1 9949 SITau;

1. AR REH GO T IR R AT TE TR &

2 ARREFI I E 3R R AT Il AR Tai &
3. ATIE AR S A
4 ANTIEAPTIRTT S

Options :

68634041469. 1

68634041470. 2

68634041471. 3
68634041472. 4

Question Number : 69 Question Id : 68634010505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : X opens a hotel in front of Z's hotel. All the customers of Z's patronize X. Z cannot claim
damages
Reason R : There is latin maxim - Damnum Sine Injuria

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

68634041473. 1
68634041474. 2
68634041475.3
68634041476. 4

Question Number : 69 Question Id : 68634010505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
T

HHYT A: X T 2 & I gica @ial Z % 94 U8 X &1 TR&0 3R TegIT UeH $id ol Z B9l
&ffereT &1 21a1 ] X Jodl 6|

BRI R: SHAY 915 5o/ dicd Pead ol
Sudad $YF & Tellie 4. - 40 7Y f[ddedl T 9 g1 3R &1 994 Bl

1. AR REH TOE IR R AT TE TR &

2. ASIRREHI A 8 3R R, A DI TSl AR 8 §

3. A9 e Al R 3T B

4. AT AfPIR I B

Options :

68634041473. 1
68634041474. 2
68634041475. 3
68634041476. 4

Question Number : 70 Question Id : 68634010506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : India, that is Bharat shall be Union of States.
Reason R : States have right to recede.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041477. 1
68634041478. 2
68634041479. 3
68634041480. 4

Question Number : 70 Question Id : 68634010506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

Y A: 3. S i YRd &, Iogi &1 9w g

BT R: o4} B AT B BT AHR B
Sudad HYE & fTaie 4, 19 AU T el § I 999 39ga IR 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 ANTARABGIR TS
Options :
68634041477. 1
68634041478. 2

68634041479. 3
68634041480. 4

Question Number : 71 Question Id : 68634010507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other 13 labelled as Reason R :
Assertion A : Laws are only valid if they are just.
Reason R : The aim of law is to secure Justice.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

b2

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634041481. 1
68634041482. 2
68634041483. 3
68634041484. 4

Question Number : 71 Question Id : 68634010507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

3firmye A. fafirl daa 9 3y € oie 3 IfRa &)

BRI R faftr o1 @eg Imfoe =g S 8|
Sudad HYF & fTaie 4, 19 AU T el § I 999 39gad IR 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 ANTARABGIR TS
Options :
68634041481. 1
68634041482. 2

68634041483. 3
68634041484. 4

Question Number : 72 Question Id : 68634010508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Government of India is a distinct legal personality
Reason R : Because it 1s capable of suing and being sued.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

b2

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634041485. 1
68634041486. 2
68634041487. 3
68634041488. 4

Question Number : 72 Question Id : 68634010508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

HUHYT A: YR PR U Gy f&fie wfeaa g

HRUI R: T T8 916 B U&dl © R 59 IR dIg [l of ol g
Sudad HYE & fTaie 4, 19 AU T el § I 999 39ga IR 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 AT APIRTT S

Options :

68634041485. 1
68634041486. 2
68634041487. 3
68634041488. 4

Question Number : 73 Question Id : 68634010509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the provisions of the Indian Contract Act. 1872 in chronological order sectionwise,

A Bailment
B. Pledge

C. Agency
D. Indemmnity
E. Guarantee

Choose the correct answer from the options given below :

1.LA,B.E.D.E
22D EBAB. E
3.D.E.B.C.A
4. A C,B.D.E

Options :

68634041489. 1

68634041490. 2

68634041491. 3
68634041492. 4



Question Number : 73 Question Id : 68634010509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Ilder 3fe-g9.1872 & U= &l UNI-dR HIashd 4§ cgaied & ;

A. SHEd BT Ja
B. HfHaa
C. Uoidt / e
D. ifergfed
E. TIREL
i fau U f[doedl § O T8l 3T &1 944 Bl

1A B EBDE

[ ]

BB AR E
3.D.E.B.C.A
4. A C.B,D.E

Options :

68634041489. 1
68634041490. 2
68634041491. 3
68634041492. 4

Question Number : 74 Question Id : 68634010510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement(s) and answer

A. Libel is a defamation is some permanent form

B. Slander 15 a defamation in a transient form

C. Libel 1s criminal offence as well as civil wrong

D. Under the Indian Law. only libel 1s criminal offence
E. Slander 1s a criminal offence as well as civil wrong

Choose the correct answer from the options given below :
1.A.B.E
2. B.G.D
A 8 0 5 2
4. B.D.E
Options :
68634041493. 1

68634041494. 2
68634041495. 3



68634041496. 4

Question Number : 74 Question Id : 68634010510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ho! iy o 997 Sifo -

A, ST O P W =Y & A6l 6|

B. firamare sieqerdl 9 &t aHel- B

C. YR fafyr & o sauH-a g SRS $a B

D. frgaare SMTaRife oa & ry-ary fafae sroRme o 81

- fau e faw et & 9 Hel ST &1 93U Difen -

1.LAB.E

| ]

B, gD
5. A8,
4 B.D.E

Options :

68634041493. 1
68634041494. 2
68634041495. 3
68634041496. 4

Question Number : 75 Question Id : 68634010511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement and answer

A. Theft defined under section 378 of I.P.C.

B. Extortion defined under Section 381 of I. P. C.

C. Robbery is either theft or extortion under section 390 of I. P. C.

D. Dacoity 1s defined in section 391 of I. P. C.

E. Making preparation to commit dacoity 1s punishable under section 399 of IPC.

Choose the correct answer from the options given below :
1.LAB.C.D
2.B. G, I E
33JA.B.C
4. A C.D.E

Options :
68634041497. 1



68634041498. 2
68634041499. 3
68634041500. 4

Question Number : 75 Question Id : 68634010511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HUHY BT 90 Sifoly :

A, STSUR ST YR 378 H IR gRTET ©

B. ASUR BT YRT 381 H IRl ST RN B

C. 3MEURE B YRT 300 F T A1 AT =R § S1uar ST B L.

D. 3 & URT 301 T SehdT UfRHTRE 21

E. SHdl &1 Rl ST TS P URT 300 & HciTd qUSAa g

=i fau Y fawedi & ¥ Hel SR &1 97U Dife -

1.A B C.D

[ ]

B, TR
3.JAB.C
4. A, C.D.E

Options :

68634041497. 1
68634041498. 2
68634041499. 3
68634041500. 4

Question Number : 76 Question Id : 68634010512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Articles of the Constitution of India in correct sequence on first come basis.

A. Power of Parliament to provide for the establishment of certain additional courts.
B. Special address by the President

C. Extension of Jurisdiction of High Court to Union Territories.

D. Language to be used in Parliament.

E. Power to carry on trades etc.

Choose the correct answer from the options given below :
1.LA,B,C,D.E
2B.D.C.AE
3.B.D.E.A.C

4. E.D.C.B.A

Options :

68634041501. 1
68634041502. 2
68634041503. 3
68634041504. 4

Question Number : 76 Question Id : 68634010512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA & AU & FafaRad sr=sal o 9ad ygd, auyH & YR B oaieyd SIfeu:

A BIaug SfdRed T/l &1 RIY &3 S S9a D1 Uidd
B. Tyfc & fa2iy Sifdyumeor

C. 3= gl & SANUSR &1 J9 Isga | fawr

D. I9<¢ H YOI &1 S arelt HIel

E. PRIER Sdliq H- B Ufad

4 fau U fasedi O O I51 TR &1 9094 BHifelu -

1LAB.C.D.E
2. B, D, C A E
3B.D.E.A.C
4. ED.C.B.A

Options :

68634041501. 1

68634041502. 2

68634041503. 3
68634041504. 4



Question Number : 77 Question Id : 68634010513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequentially arrange the grounds for disqualification under Article 102 of the constitution of India.

A. Undischarged insolvent

B. Not a citizen of India

C. Unsound mind

D. Holds any office of Profit

E. Disqualified by law made by Parliament

Choose the correct answer from the options given below :

1. AB.C.D.E

| )

E.DABE
A B TF G 5 N )
4.D.C.A.B.E

Options :

68634041505. 1
68634041506. 2
68634041507. 3
68634041508. 4

Question Number : 77 Question Id : 68634010513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR & HAYH & =5g 102 B i FIaal & YRI &1 HHER o0aied S ;

A, 37eIfed fearfemn

B. HIRd &1 AR gl

c. faféra afess

D. @Y 1 Ug YR Sl &

E. 99< g (Afifq fafe g faaiag

fFafdad faeedl © ¥ I8! 3Tk &1 99 Hifoid ;

1. AB.C.D.E

2

A DLABUE
3.D.C.B.A.E
4.D.C.A.B.E

Options :

68634041505. 1
68634041506. 2



68634041507. 3
68634041508. 4

Question Number : 78 Question Id : 68634010514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sequentially arrange the freedoms given under Article 19 of the Constitution of India.

A Speech and Expression.
B. Residence

C. Movement

D. Association

E. Assembly

Choose the correct answer from the options given below :
1.A,B,C.D.E
2.A.B.D,C,E
3.A,E.D,C,B
4. A.E.D.B.C

Options :

68634041509. 1
68634041510. 2
68634041511. 3
68634041512. 4

Question Number : 78 Question Id : 68634010514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd & AU & sg=ve 19 H €1 718 Waaarsi & pHMER Faiud Sifee:

A 1% 3R sl
B. Ham

C. Haad

D. 99

E. 94U

i fau e faeed O T I8l STR &1 99+ B : |

1A B ECBE

[ 2]

.A.B.D,C,E

3JAEDCB

4 A E.D.B.C



Options :

68634041509. 1
68634041510. 2
68634041511. 3
68634041512. 4

Question Number : 79 Question Id : 68634010515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequentially arrange the Sections given in the Cr. P. C. 1973

A. Tender of Pardon to accomplice
B. Compounding of offences

C. Court to be open

D. Legal aid to accused

E. Withdrawl from prosecution

Choose the correct answer from the options given below :
1.A,D.B.C.E
2.DABB.LC
3. DA€, B.E

4. E C.B.A.D

Options :

68634041513. 1
68634041514. 2
68634041515.3
68634041516. 4

Question Number : 79 Question Id : 68634010515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSR, 1973 T €1 715, 4TS &1 HUMHR Hafeyd Bifoig:

A. AT WRgd &A1 GeTaRIe 8T B |
B. Pl Bl FHTUTHRI

C. =TT &1 Gl 6 6

D. HRITUT B! BT Ferddl

E. AT a19d o1

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1LADB,CE

2D ABEC

3D AC B E

4. E.C.B.A.D
Options :
68634041513. 1
68634041514. 2

68634041515.3
68634041516. 4

Question Number : 80 Question Id : 68634010516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Freedom of speech and expression is not absolute under Indian Constitution.

Statement II : The State can make law imposing reasonable restriction on the exercise of right of freedom of
speech and expression in the interest of public moralty.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634041517. 1
68634041518. 2
68634041519. 3
68634041520. 4



Question Number : 80 Question Id : 68634010516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR
HY I: HRAM Alde 5 a1ep SiR SHiisaiad &1 Waddl ey 781 g

BHYTIL: n{%u. qie Aldedl & fgd 8 1@ SR sifiouldd & SR & SFEWN W dowid iddd SRt
TR IFAT 5

Suded HYF & MTaie o, A9 ST T fdeedl § I 969 399 o) 31 90 il
1. B RIS Tl &

2. BYTI AR 11 S TTod &
3. BYT 1 el 6. Al U 11 TTad §
4. BYT17TAd ©. Wb BYT I Tl &

Options :

68634041517. 1
68634041518. 2
68634041519. 3
68634041520. 4

Question Number : 81 Question Id : 68634010517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I :Hugo Grotius is father of Public International Law.
Statement IT : Hugo Grotius discussed about law of war and peace in his book De Jure Belleac Pacis'
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement ITI are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I is correct

Options :

68634041521. 1
68634041522. 2
68634041523. 3
68634041524. 4



Question Number : 81 Question Id : 68634010517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 ST puE Ry M E:
T2 1 T AR e siRfga fafy & AT §)
B I1: LI AR A 39+ [ of W adsd UdN 4 45 &R A1 & 9 & =i B |
Suad HYF & ais 4, A QU T f[deedl 1 3 999 39gad Su) 3l o0 Bilu;
1. BYT1 AR 1 I e €

2. BYFT AR 11 S TTeid &
3. HYT I el 8. A YT 11 7Tdd §
4. DY 1TTAd &, AP PUT I Tl ©

Options :

68634041521. 1
68634041522. 2
68634041523. 3
68634041524. 4

Question Number : 82 Question Id : 68634010518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A design when registered shall be registered as of the date of the application for registration of
design.

Statement IT : When a design 1s registered. the registered proprietor of the design shall have a copyright m the
design during Twenty years from the date of registration.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ B

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :

68634041525. 1
68634041526. 2



68634041527. 3
68634041528. 4

Question Number : 82 Question Id : 68634010518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

DY I Tl [SSIg D1 Usiigd [6g1 S o 34 TSuig & Yol & iU 3ae & ariig aF
SITET |

HY 11: 56 UD [Solg- Yoilpd (a1 offdl &, ol (S5 & Usiigd WIRTEex & UM Uol @0l ] dRE 9
20 I @1 3af¥ & Ty f$e18 &7 ulafraiieR ghm|

Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy
1. B AR IS 9el &

2 BT AR IS Ted &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Wb BYT I Tl &

Options :

68634041525. 1
68634041526. 2
68634041527. 3
68634041528. 4

Question Number : 83 Question Id : 68634010519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Share capital of a company limited by shares shall be of two kinds.

Statement II : Preference share capital, with refence to any company limited by share. means all share capital
which it not equity share capital.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false

3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true



Options :

68634041529. 1
68634041530. 2
68634041531. 3
68634041532. 4

Question Number : 83 Question Id : 68634010519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁﬁﬁﬁqﬁq%
HY I WERI ERT I el Su=1 @1 oiwr Uil &f WpR B gl |

HU 11: TR §RT Ui 5 S & w2 & wufirear o doft &1 arf @t 37 ofey ol 9 g o gfde
S US Al B |
Sued HYF & Telis 4, A [GU T fdeedl 1 9 999 39gad 3u) &1 o0 Bilu;

1. B AR IS 9el &

2. BYF1 AR 11 S Terd &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. DU 1 7T ©. b BYUH I Tel &

Options :

68634041529. 1
68634041530. 2
68634041531.3
68634041532. 4

Question Number : 84 Question Id : 68634010520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Reverse onus clause like "shall presume" has been criticized by many scholars as violative of
presumption of mnocence.

Statement IT : Those offences which contain reverse onus clause do not require the presentation to establish
any fact beyond reasonable doubts.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement IT are false

L¥ 5]

. Statement I 13 correct but Statement II is false

4. Statement I is incorrect but Statement II is true

Options :

68634041533. 1
68634041534. 2
68634041535.3
68634041536. 4

Question Number : 84 Question Id : 68634010520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

BY I b H TUS Bl "Ja A D & §gd fagHi GRT FaY 811 ®1 qdURUN &1 SRivTaR] 81 &
TR TR AT B 15 6

BYA I1: T P, o8 acl ogohH WUS dlay 8. DI G eiTd Sael & IR 9l & e gRI ®IIUd
B DI T HT Tl B
Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy

1. B AR IS 9el &

2. BYTI AR I S TTod &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Afp- BYT I Tel &

Options :

68634041533. 1
68634041534. 2
68634041535.3
68634041536. 4



Question Number : 85 Question Id : 68634010521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Rape and gang rape of a woman under twelve years of age 1s punishable with death.
Statement IT : Gang rape of a women under Sixteen years of age is punishable with death.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement I are correct
2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 1s correct
Options :
68634041537 1
68634041538. 2

68634041539. 3
68634041540. 4

Question Number : 85 Question Id : 68634010521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEAE AT RIS
BYA 1. TR 9N I DY 31 $I OIS BT IR J1 AH[eP Sale R H1d &1 Toll § GUs19 BHT |
B IL-5FE T4 4 DY 1Y B A BT I8 SalcpR HId B Holl § GUS-1g 81T |
Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy

1. PYUT1 AR 1L ST TEl €

2. BYTI AR I S TTod &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Afp- BYT I Tel &

Options :

68634041537. 1
68634041538. 2
68634041539. 3
68634041540. 4



Question Number : 86 Question Id : 68634010522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : 8 Tudges bench sitting for deciding any case involving a substantial question of law as to the
interpretation of the Constitution of India i1s a Constitution Bench.

Statement IT : An appeal shall lie to the Supreme Court from any judgement, final order or sentence in a
criminal proceeding of High Court in the territory of India if the High Court has on appeal reversed an order of
acquittal of an accused peron and sentenced him for life imprudent.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement IT is correct

Options :

68634041541. 1

68634041542. 2

68634041543.3
68634041544. 4

Question Number : 86 Question Id : 68634010522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%aiaiwﬁqw%

BYA I U G &1 oed] B34 Tl fafe) & farsit Teayul 9y &1 Fug &= ard [ arg &
o= arelt 3416 AT @1 89 31 Wiy 39 Her W ¢

B 11: Tf I=3 ATy | Stte W) fed HRIfd oufed & a3 819 & 1Y &I Uae 6a1 8 Hyar3d
ol HRIGE D Tofl <1 & O YRd & uftas & (el ey o1 sTaRifte sriag! & fadl ol
Sifam fofa o1 gon & favg I=9aq e § andie gl

Sued HYF & Telis 4, A [GU T fdeedl 1 9 999 39gad 3u) &1 o0 Bilu;
1. B 1 AR IS 9el &

2. BYF1 AR 11 S Terd &
3. BYT 1 el 8. A YT 11 7Tad §
4. DY 1TTAd &, Wl PUT I Tl &

Options :

68634041541. 1
68634041542. 2
68634041543.3
68634041544. 4

Question Number : 87 Question Id : 68634010523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Acts on Environment Protection in ascending order of their enactment:
A Forest (Conservation) Act
B. Biological Diversity Act
C. National Green Tribunal Act

D. Public Insurance Liability Act
E. Water (Prevention and Control of Pollution) Act

Choose the correct answer from the options given below :
1.A,B,C,D,E Only
2.E.D.,C.B, AOnly
3.D.E.B. C.A Ounly

4. B, A D, B, € Only

Options :

68634041545. 1
68634041546.2
68634041547. 3



68634041548. 4

Question Number : 87 Question Id : 68634010523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad gafawor e il & g9 Aftfaaa & IR o0 § soafud $ife -

A. T (FReon) SHfufay

B. oig fafaear sfafam

C. YT TR Ui sfef-rm

D. 5 &A1 Sgar fufas

E. SId (WgNUI $I Ay SR ez sy

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1. PGAA.B.C.D.E
2. HAAE.D.C.B. A
3. FAUD.E.B.C. A

4. HATE.A.D.B.C

Options :

68634041545. 1
68634041546.2
68634041547. 3
68634041548. 4

Question Number : 88 Question Id : 68634010524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transfer of Property Act applicable on the

A. immovable property

B. movabile property

C. Non-testamentary instrument
D. Testamentary instrument

E. Future property

Choose the correct answer from the options given below :

1. A,.B. D, E Only

[ )

.B. C.E Only
3.A.B.C Only

4. A D, E Only

Options :



68634041549. 1
68634041550. 2
68634041551. 3
68634041552. 4

Question Number : 88 Question Id : 68634010524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 1 geaiaRor HfUfae R s 8

A 3{dd 9ufd

B. 9d Uufd

c. TRgdad! faoa
D. gl faea

E. Hid™ Iy

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1.9Pdd A.B.D.E
2. BB, C, E
3. AU A, B.C
4. PAT A, D, E

Options :

68634041549. 1
68634041550. 2
68634041551. 3
68634041552. 4

Question Number : 89 Question Id : 68634010525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In order to argue successfully that the defendant has generally been negligent. the claimant must establishe.

A. There has been breach of duty of care on part of the defendant

B. Claimant owes a duty of care

C. Breach of duty of care by claimant

D. The defendant owes a duty of care to the claimant

E. The breach of duty of care resulted in the harm suffered by the claimant.

Choose the correct answer from the options given below :
1. A, C, E Only
2.D.B.AOnly
3.A.D.E Only

4.D. B, C Only

Options :

68634041553. 1
68634041554.2
68634041555. 3
68634041556. 4

Question Number : 89 Question Id : 68634010525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEI19 G& B ATIRATE! Wied D P oY Srarehdl &1 Hifee BT =T

A. §91d Y& D 3R F SE-HId P oo DI Jeeid g3 &

B. gIaTad| & ¢@yTd @l Sifdd el

C. IaTad| gRI ¢E-HId & Haod BT JeaioH

D. 919 U& P1 SaIdbd| P Uid SE-HId BT B 8|

E. $9-UTT & Sdiod & 3caig ol URUIH garedl gRI1 gl / &t Y- & &0 1 gail|

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1.9dd A, C.E
2. Hdd D, B.A
3. A, D.E
4.%daD, B, C

Options :

68634041553. 1
68634041554. 2
68634041555. 3
68634041556. 4



Question Number : 90 Question Id : 68634010526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify statements which are related to white collar crime.

a. White collar crime is committed by persons of high status in society.

b. Emotional element is always involved in white collar crimes.

c. Motive behind white collar erime is to take revenge.

d. White collar crimes are committed during pursuing business profession.
¢. Object behind commission of white collar crime 1s to fulfil basic needs.

Choose the correct answer from the options given below :

1. A. E Only

| )

. C.D Only
3. B. C Only

4. A. D Only

Options :

68634041557. 1
68634041558.2
68634041559. 3
68634041560. 4

Question Number : 90 Question Id : 68634010526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Theur AR 4 Yafid Sy &1 UgdH Siful:

a. BT 3ORTY THTS & 3= g0l & Al gRI {60 & g

b. "HIGTED @ SH ThauiRl g & Imfiyd Igai ¢

c. TH U1 MRTe & Uies Hdod ggal a- g |

d. THEUre 3MORTY SIady SHRauHy &Y 91d 81

c. UHEUIRT S{RTE B BT 10 YR =l Bl IR BAT 6 |

i< fau T faeedl o O 9ol 3R &1 99 Hifoy ;
1.PITAE
2. PadC, D
3. % B, C
4. PIAA,D

Options :
68634041557. 1
68634041558. 2



68634041559. 3
68634041560. 4

Question Number : 91 Question Id : 68634010527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Parliament cannot delegate to the executive.
A. Essential legislative power
B. Non essential legislative Power

C. Power of formulation of legislative policy
D. Power to repeal a law

Choose the most appropriate answer from the options given below :

1.A.B. C.D Only
2.A. C&DOnly
3. B Only
4.B & D Only

Options :

68634041561. 1

68634041562. 2

68634041563. 3
68634041564. 4

Question Number : 91 Question Id : 68634010527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9%, ST &1 Yariford Tel &3 9hdl 2|

A, 320 (quTdr Tfad

B. 1a=g® fqemdl giad

c. faurdt Fifg faafo =t wifdg

D. [t [afe ot R o= o wiidd

19 f3u Tt fasedi § 9 &l IUged SR &1 999 DifIL:
1.$dAA,B.C.D
2. HadA. C IR D
3. Bdd B
4.%ad B 3R D

Options :
68634041561. 1




68634041562. 2
68634041563. 3
68634041564. 4

Question Number : 92 Question Id : 68634010528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement and answer

A. Delay in filing a suit can be condoned under section 3 of the Limitation Act
B. Delay in filing a suit can be condoned under section 5 of the Limitation Act
C. Delay in filing a suit can be condoned under order 6 rule VI of CPC.

D. Delay in filing a suit cannot be condoned

Choose most appropriate answer from the options given below :

1. A. B, C Only

| )

.A.B.D Only

Lad

.A. C.D Only
4. D Only
Options :
68634041565. 1
68634041566. 2

68634041567. 3
68634041568. 4

Question Number : 92 Question Id : 68634010528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol HHHY DT I HIfY -

A. R HfIFTE Bt URT 3 & idild 918 SER & | o3 @1 & [har o godr gl
B. ORI 200 Bt YR 5 & 3iTid 918 SR &34 § <31 @ & a1 ST I&dr gl
C. TR &1 0.6.R. VI & 3id¥id g1g SR &3 H 31 &1 &1 fasar o Iadi 2|

D. 91 SR ®- H 331 ®1 &m1 e fopdl off 9a&dl g

19 fdu T fas el O § a9 I9ged SR &1 99 Hifolt:
1. BAAA, B, C
2. A A, B.D
3.Pad A, C.D
4.%adD

Options :




68634041565. 1
68634041566. 2
68634041567. 3
68634041568. 4

Question Number : 93 Question Id : 68634010529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the principles are connected with Environment law
A. Polluter pays principle
B. Precautionary principle

C. Inter-generational equity
D. Principle of equity

Choose the most appropriate answer from the options given below :

1. B, C. D Only

[ ]

.D.A. B Only

Lad

.A. B. C Ounly

4.A.B.C.D Only
Options :
68634041569. 1
68634041570. 2

68634041571. 3
68634041572. 4

Question Number : 93 Question Id : 68634010529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I 4 figia valazor fafy & d&fta &

A GRT YT R
- 3 Nt
C. SHR-dIgHTd T

D. Il &1 [ gid
i fau U fae el § O 98 U TR 1 99 BIfwIU:

1. ®dd B, C.D
2. $au D, A. B
3.PddA.B.C
4. PAUA.B.C.D




Options :

68634041569. 1
68634041570. 2
68634041571. 3
68634041572. 4

Question Number : 94 Question Id : 68634010530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST I
A |Prize courts 1. |Paquete Habana case
B. |Asylum II. |Castionmi
C. [Extradition II1. [Zamora Case
D._ [Customary Internationa Law]| IV [Corfu Channel Case

Choose the correct answer trom the options given below:

1. A-I. B-IL C-IIL. D-IV

| ]

AL B-IV. C-I1, D-I
3. A-IV, B-IIL C-II. D-I
4. A-I1, B-1, C-II1. D-IV

Options :

68634041573. 1
68634041574. 2
68634041575.3
68634041576. 4

Question Number : 94 Question Id : 68634010530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

AT 1 T 1
A [QREHR ey 1. [diad gaigdlg
B. RO 1. [maicaH]
C. [oreuo 111 [SHT arg
D. [qYFTd SiqIp fafd] 1v. [@1% a4 aig
FafeRad fasedl O © 981 STk &1 994 Sifoy ;

1. A-I. B-II. C-III. D-IV

| o

AL B-IVL. C-I1L D-I
3. A-IV. B-IIL. C-II. D-I
4. A-IL. B-I. C-III. D-IV

Options :

68634041573. 1
68634041574. 2
68634041575. 3
68634041576. 4

Question Number : 95 Question Id : 68634010531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
. [Raght of the child I. JArticle 27 of ICCPR,, 1966
Equality before the law | II. JArticle 24 of ICCPR, 1966
Freedom of association | II1. |Article 22 of ICCPR., 1966
. |Faghts of minorities IV, |Article 26 of ICCPR., 1966

w] fo] Ivs]

Choose the correct answer trom the options given below:

1. A-IIIL, B-IV. C-I. D-II

| ]

. A-L B-III, C-IT. D-IV
3. A-IL B-IV. C-III. D-I
4. A-I. B-II, C-II1. D-IV

Options :

68634041577. 1
68634041578.2
68634041579. 3
68634041580. 4



Question Number : 95 Question Id : 68634010531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T I Tqt I
A [gTs! & YR 1 [ARUdiaR 1966 BT HE5G 27
B. [[af% & gug g | 1 [srediidism 1966 @1 siwsa 24
C. [49 o Toaadl 11 [ AR 1966 B dads 22
D. [seadas! & HUBR| IV, [srsiiidisr 1966 &1 3 =5s 26

ffafad faeedl § U Ug! SO &1 99 Sl -

1. A-IIL B-IV. C-I, D-II

|

. A-LB-IIIL C-I1. D-IV
3. A-IL. B-IV., C-III, D-I
4. A-1, B-II. C-III., D-IV

Options :

68634041577. 1
68634041578. 2
68634041579. 3
68634041580. 4

Question Number : 96 Question Id : 68634010532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
R Commencement of arbitral I Sec. 294 of the Arbitration
"7 lproceedings " land Conciliation Act, 1994
B. [Finality of arbitral award g oo 2V of Be Jabiratoncang

Conciliation Act, 1996
Sec. 35 of the Arbitration and
Conciliation Act, 1996
Sec. 21 of the Arbitration and
Conciliation Act, 1996

C. |Place of arbitration I

D. |Time limit for arbitral award V.

Choose the correct answer from the options given below:

1. A-III, B-1. C-II. D-IV

[ ]

CA-IV. B-1, C-11, D-III
3. A-III, B-1I. C-IV. D-I
4. A-IV, B-III. C-II. D-I

Options :



68634041581. 1
68634041582. 2
68634041583. 3
68634041584. 4

Question Number : 96 Question Id : 68634010532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T T T I
A, [TrerRET St &1 ey B 3R T8 Bl 4RI
B. [Arerya iy [0 &1 sifqadr 11 [ATe0® 3R Tels &l 4RI 20
C. [Fraem & R 111 [Ty 3R geig I UR7 35
D. [Areg=ye g [0 o fee gag- g | v, [A1eeyd 3R Goe &) 4R 21
fafaRad fadedl & ¥ 98l TR &1 99 SIfelt

1. A-III, B-I. C-II. D-IV

b2

CA-IV. B-1, C-I1, D-III

CA-IIL B-ILL C-IV, D-I

L¥ 5]

4. A-IV, B-III. C-I1. D-I

Options :

68634041581. 1
68634041582. 2
68634041583. 3
68634041584. 4

Question Number : 97 Question Id : 68634010533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Appeal I |Sec.114 of CPC
B. [Reference II. |Sec.113 of CPC
C. [Feview III. |Sec.115 of CPC
D. [Revision IV |Sec.96 of CPC

Choose the correct answer trom the options given below:

1. A-I. B-IL C-IIL. D-IV

[ E)

CA-L B-ILL C-IV, D-III
3. A-III, B-IV. C-II, D-I
4. A-IV. B-1I. C-1, D-III

Options :

68634041585. 1
68634041586. 2
68634041587. 3
68634041588. 4

Question Number : 97 Question Id : 68634010533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
Gl T o
A [erdie I [URT114
B. [dgy I |87 113
C. [gHTET TII. [4RT 115
D. [gFgEmea [ 1v [uri o6
FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-I. B-II. C-III. D-IV

|

cA-LB-IL C-IV, D-IIT
3. A-III, B-IV. C-II. D-I
4. A-IV. B-I1, C-I, D-III

Options :

68634041585. 1
68634041586. 2
68634041587. 3
68634041588. 4



Question Number : 98 Question Id : 68634010534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

I Section 2(a) of the Biological
" |Diversity Act, 2002

Section 2(b) of the Biological

A [Biological Diversity

B. [Biological Resources I1. Diversity Act, 2002

C Bio-Survey and Bio- 1 Section 2({c) of the Biological
" |Utilization " Diversity Act, 2002

D. Benefit Claimers v Section 2(d) of the Biological

Diversity Act, 2002

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-I, D-III

| B)

. A-IIL B-IIIL, C-IV. D-I
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1I. C-III, D-I

Options :

68634041589. 1
68634041590. 2
68634041591. 3
68634041592. 4

Question Number : 98 Question Id : 68634010534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

g1 = 10
iy P— . éa???%mwzomﬁ
iy e — - %?ﬁngmzﬁ
C. [ra-wram SR - I o g’aﬁﬁm e
N — B éa'?i?%maﬂ?m@zﬁ
fFrafarad fame # 3 T8t SR @1 994 P

1. A-II, B-IV, C-1, D-ITI

[ 2]

A-IL B-IIIL, C-TIV, D-I
3. A-IL B-I, C-IV, D-III
4. A-IV. B-II. C-III. D-I

Options :

68634041589. 1
68634041590. 2
68634041591. 3
68634041592. 4

Question Number : 99 Question Id : 68634010535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Sections 141 of the Indian

Fulentins Qs tion L |Reiidenice Act 1872
B [Examination - i - 1 Sections 140 of the Indian
" |chief " |Evidence Act. 1872

Sections 138 of the Indian
Evidence Act, 1872
Sections 137 of the Indian
Evidence Act, 1872

C. [Witness to character I1I.

D. |Order of examination TXE:

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| B)

CA-L B-TIV, C-III. D-II

[#5]

CA-IV. B-IILL. C-I1, D-I

4. A-I. B-II, C-III. D-IV



Options :

68634041593. 1
68634041594. 2
68634041595. 3
68634041596. 4

Question Number : 99 Question Id : 68634010535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 i 11§ e i

T Tl 10
A [TEE T L mﬁ;@mﬂ
B. [ Uyadl / S dai | 11 mﬁg@mﬂ
C. [afea @ areh I mﬁ iﬂﬁuﬂ
D. o/ W&o dTHA [ IV. ﬂ“ﬁiﬁﬁm
Frafifad e § 3 98 9w 1901 -

1. A-II, B-IV, C-III. D-I

[ 2]

CA-L B-TV, C-II1L. D-IT

[F5]

CA-IV, B-IIIL. C-I1, D-I
4. A-1. B-II. C-III., D-IV

Options :

68634041593. 1
68634041594. 2
68634041595. 3
68634041596. 4

Question Number : 100 Question Id : 68634010536 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A Dunishment for sending offensive 1 |sec 66A of IT Act
messages
B. [Punishment for violation of privacy | II. |Sec. 66C of IT Act
. Pamiskmncut Soxiche wing by 1L [Sec. 66D of IT Act
personation
D. [Punishment for identity Theft IV |Sec. 66E of IT Act

Choose the correct answer from the options given below:
1. A-I, B-II. C-III. D-IV
2. A-IL B-L C-IV. D-III
3. A-L B-III. C-IV. D-II
4. A-I. B-IV. C-III. D-II

Options :

68634041597. 1
68634041598. 2
68634041599. 3
68634041600. 4

Question Number : 100 Question Id : 68634010536 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

g 1 g 1
. [gor eiPveTee 2 A R | 1 (0o O
B. [F9a1 Iag4 & fau g9 I ;Jggcﬁﬁ
C. |61 31 YRV gRI BefER & e gen | 1IIL ;m@‘;mm
D. [T 911 3 R ae v ?&EH@
frafeiad faeeal & 9 9et Ik @1 I8 Sifo .

1. A-I. B-II, C-III. D-IV

| )

CA-IL B-LL C-IV, D-III

[F5]

CA-L B-IILL C-IV. D-IT
4. A-L. B-IV. C-1II, D-II

Options :



68634041597. 1
68634041598. 2
68634041599. 3
68634041600. 4



